Date: March 13, 2023

To: Joe Trueblood, Utility Superintendent

From: Bill Swearingen, Operations Supervisor

Subject: Phosphate system upgrade (additional bulk tanks)

The original phosphate bulk storage tank was built in 1994 and replaced in 2017 with a new bulk storage tank system that included 3 plastic vertical storage tanks that are manifolded together. Current total bulk storage capacity is 1,500 gallons (500-Gallon Each).

As the utility continues to improve and optimize its corrosion control treatment through additional lead testing, it's apparent that additional bulk storage is necessary to maintain a required 30-day bulk storage capacity. I would like to recommend adding two 500-gallon storage tanks to the bulk storage system, increasing the capacity to 2,500 gallons. Water utility staff will complete installation work.

2023 Budget Item: \$12,000.00

<u>Item</u>	<u>Unit</u>	<u>Total</u>		
(2) 500 Gallon Bulk Tanks Piping/Fittings Materials	\$3,034.85	\$6,069.70		

=========	========	====	========	=====	====	====		====	
QUOTATION HDSFM D/B/A USABLUEBOO PO Box 9004 Gurnee, IL 60031-9 Toll free: 1-800-548				JEBOOK)04)31-90)-548-	04 1234	1		1	Page 1 02/21/23
Ship-to:	1	Fá	ax: (847) 68			l-to:	1 5	976	
SHIP-LO. SHEBOYGAN WATER UTILITY C/O OPERATIONS DEPT 72 PARK AVE SHEBOYGAN WI 53081-2958 USA					Bill-to: 15976 SHEBOYGAN WATER UTILITY 72 PARK AVE SHEBOYGAN, WI 53081 USA				
	EXPIRES						GHT SHIF	VIA	=======
CASE TA-7277	03/23/23	BKA	NET 30		01	FXD/	PPD VEND	OR'S	CHOICE
QUOTED BY: BKA	QUOTED TO:	ANDY	WELLMAN						
ITEM DESCR	RIPTION			QUAN	TIT	Y UM			EXTENSION
73799 Verti	e======= cal Bulk Stallon 46 x	orage					1495.9	5 EA	2991.90
APPROXIMATE LEAD TIME 5-6 WEEKS ARAD ARO FREIGHT: \$430.00 SUBJECT TO FUEL SURCHARGE CHEMICAL:ORTHOPHOSPHATE TO PLACE AN ORDER FOR A CUSTOM TANK: 1. EMAIL A SIGNED COPY OF THE QUOTE AND PURCHASE ORDER (IF REQUIRED) TO CUSTOMERSERVICE@USABLUEBOOK.COM 2. ALSO, INCLUDE A SIGNED COPY OF THE TANK DRAWING WITH ALL DESIRED FITTING LOCATIONS AND ANY OTHER CHANGES THAT NEED TO BE MADE. 3. IN SOME INSTANCES A MANUFACTURER'S CAD DRAWING MUST BE APPROVED. IN THIS CASE THE CAD DRAWING MUST BE REVIEWED AND APPROVED BEFORE TANK MANUFACTURING BEGINS. CAD DRAWINGS GENERALLY TAKE 1-2 WEEKS TO COMPLETE. 4. CUSTOM TANKS WILL NOT BE SENT TO PRODUCTION UNTIL A SIGNED DRAWING HAS BEEN RECEIVED. PLEASE ALLOW 5-6 WEEKS FOR DELIVERY AFTER DRAWING APPROVAL A.R.O. A COPY OF THE TANK DRAWING HAS BEEN SENT WITH THE QUOTE PLEASE SIGN AND RETURN THE DRAWING WITH YOUR ORDER TO APPROVE THE FITTING SCHEDULE. THE CUSTOMER IS RESPONSIBLE FOR OFFLOADING UPON DELIVERY THE APPROXIMATE WEIGHT OF TANK IS 100 POUNDS EACH **** IMPORTANT **** **** IMPORTANT **** TANKS MUST BE FULLY INSPECTED PRIOR TO SIGNING FOR DELIVERY.									
									CONTINUED

______ QUOTATION

HDSFM D/B/A USABLUEBOOK

PO Box 9004 Gurnee, IL 60031-9004 Toll free: 1-800-548-1234

Fax: (847) 689-3030

Page 2

NO. 330164

02/21/23

Ship-to: SHEBOYGAN WATER UTILITY C/O OPERATIONS DEPT 72 PARK AVE SHEBOYGAN WI 53081-2958 Bill-to: 15976 SHEBOYGAN WATER UTILITY

72 PARK AVE

SHEBOYGAN, WI 53081

USA USA

______ REFERENCE # | EXPIRES | SLSP|TERMS | WH | FREIGHT | SHIP VIA ________

CASE TA-7277 | 03/23/23 | BKA | NET 30 | 01 | FXD/PPD | VENDOR'S CHOICE ______

QUOTED BY: BKA | QUOTED TO: ANDY WELLMAN

ITEM	DESCRIPTION	QUANTITY	 UM	PRICE	UM	EXTENSION
	DAMAGES MUST BE NOTED ON THE SHI ANY CLAIMS FOR DAMAGES THAT DON OF LADING WILL NOT BE HONORED.		_		 D B] 	LL
	OVERFLOW					
23071	Bulkhead-Screw On Tank Fitting 2" Factory Installed	4	EA	214.35	EA	857.40
23079	Viton Gaskets for Screw On Bulkhead 2" Tank Fitting	4	EA	120.75	EA	483.00
23070	Bulkhead-Screw On Tank Fitting 1-1/2" Factory Installed	1	EA	174.35	EA	174.35
23078	Viton Gaskets for Screw On Bulkhead 1-1/2" Tank Fitting	1	EA	79.95	EA	79.95
23070	Bulkhead-Screw On Tank Fitting 1-1/2" Factory Installed	2	EA	174.35	EA	348.70
23078	Viton Gaskets for Screw On Bulkhead 1-1/2" Tank Fitting DRAIN	2	EA	79.95	EA	159.90
23068	Bulkhead-Screw On Tank Fitting 1" Factory Installed	3	EA	131.15	EA	393.45
23076	Viton Gaskets for Screw On Bulkhead 1" Tank Fitting	3	EA	50.35	EA	151.05

Please note that your order may be subject to applicable taxes based

on current rates at the time your order is completed.

CONTINUED

_______ QUOTATION HDSFM NO. 330164

> D/B/A USABLUEBOOK PO Box 9004

Gurnee, IL 60031-9004

Page 3

Toll free: 1-800-548-1234 02/21/23 Fax: (847) 689-3030 Bill-to: 15976 SHEBOYGAN WATER UTILITY SHEBOYGAN WATER UTILITY C/O OPERATIONS DEPT 72 PARK AVE 72 PARK AVE SHEBOYGAN WI 53081-2958 SHEBOYGAN, WI 53081 USA USA ______ REFERENCE # | EXPIRES | SLSP|TERMS | WH | FREIGHT | SHIP VIA _________ CASE TA-7277 | 03/23/23 | BKA | NET 30 | 01 | FXD/PPD | VENDOR'S CHOICE ______ QUOTED BY: BKA QUOTED TO: ANDY WELLMAN ______ ITEM|DESCRIPTION | QUANTITY|UM| PRICE|UM| EXTENSION ________ TO ORDER --For your convenience, you may simply sign below and return via fax to 847-689-3030. We will process your order promptly and fax a confirmation so you know we have it. If you prefer to call your order in or have additional questions or concerns, you may contact our Customer Service Department @ 800-548-1234. Please note any changes to the quantities or shipping address. Thanks for choosing USABlueBook. Authorization Signature PO Number (if required) ______

	MERCHANDISE	MISC	TAX	FREIGHT	TOTAL
	5639.70	.00	.00	430.00	6069.70
IIGE THIS OHOTE # ON DO	======= `! a!			======	

USE THIS QUOTE # ON PO's!